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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
) 701 2) 508 3 206 4 108
- 632 - 360 - 202 - 39 ”
3.
4,
5) 203 6 709 7 908 8 109 >
- 202 -566 - 835 - 73 6
7.
8.
9 508 10) 205 11) 904 12) 708 9.
- 141 - 199 - 566 - 338 0
11.
12.
13) 409 14) 308 15) 503 16) 605 13.
- 37 -160 -223 - 33
- 14.
15.
16.
17) 905 18) 504 19 204 20) 602 17,
- 632 - 386 - 72 -118
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 69
) 701 2) 508 3) 206 4 108
- 632 - 360 - 202 - 39 2 148
69 148 4 69
3 4
a 69
5, 1
5 203 6) 709 ) 908 8 109
- 202 - 566 - 835 - 73 6 143
1 143 73 36
7 73
8 36
9 508 10) 205 1) 904 12) 708 0. 367
-141 -199 - 566 ;338 " 6
367 6 338 370 '
11, 338
12. 370
13) 409 14) 308 15 503 16) 605 13 372
- 37 -160 -223 - 33 148
372 148 280 572 .
15, 280
16. 572
17) 905 18) 504 19) 204 20) 602 17. 273
- 632 - 386 - 72 ;118
273 118 132 484 8 118
10. 132
20. 484
1-10 [95]90] 858075 [ 70[ 6560 [ 55 [ 50
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C:h Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
148 1 372 338 370
4 6 69 73 36 1.
148 280 69 367 143
2.
) 701 2 508 3 206 3
-632 - 360 - 202
S - - 4,
5.
6.
4 108 5 203 6) 709
- 39 - 202 - 566 &
8.
9.
) 908 8 109 9 508 10.
- 835 - 73 - 141
-~ 11.
12.
13.
10) 205 11) 904 12) 708
14.
- 199 - 566 - 338
15.
13) 409 14) 308 15) 503
- 37 - 160 -223
[ M ath Modified 9 1111105 ? 2(7) 2(3) 773 %7 6053|4740 33|
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